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testparm x2 x3
test x2+x3=1
test (x2=0)(x3+x4=1)
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regress y x2 x3 x4 x5, vce(robust)
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open "C:\Program Files (x86)\gretl\data\wooldridge\mlbl.gdt"
# model 1

ols Isalary const years gamesyr bavg hrunsyr rbisyr

omit bavg hrunsyr rbisyr

# Overall-F for regression significance
ols Isalary const years gamesyr bavg hrunsyr rbisyr
omit years gamesyr bavg hrunsyr rbisyr --test-only

# model 2
ols Isalary const years gamesyr bavg hrunsyr rbisyr
restrict
2*b[years] - b[gamesyr] = 0O
b[bavg]+b[hrunsyr]+b[rbisyr] = 0.05
end restrict
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gretl version 1.9.9cvs
Current session: 2012-10-22 13:08
? open "C:\Program Files (x86)\greti\data\wooldridge\mlbl.gdt"

Read datafile C:\Program Files (x86)\gretl\data\wooldridge\mlbl.gdt
periodicity: 1, maxobs: 353
observations range: 1-353

Listing 48 variables:

0) const 1) salary 2) teamsal 3) nl 4) years
5) games 6) atbats 7) runs 8) hits 9) doubles
10) triples 11) hruns 12) rbis 13) bavg 14) bb
15) so 16) sbases 17) fldperc 18) frstbase 19) scndbase
20) shrtstop 21) thrdbase 22) outfield 23) catcher 24) yrsallst
25) hispan 26) black 27) whitepop 28) blackpop 29) hisppop
30) pcinc 31) gamesyr 32) hrunsyr 33) atbatsyr 34) allstar
35) slugavg 36) rbisyr 37) sbasesyr 38) runsyr 39) percwhte
40) percblck 41) perchisp 42) blckpb 43) hispph 44) whtepw
45) blckph 46) hisppb 47) lIsalary
# model 1

? ols lIsalary const years gamesyr bavg hrunsyr rbisyr

Model 1: OLS, using observations 1-353

Dependent variable: lIsalary
coefficient std. error t-ratio p-value
const 11.1924 0.288823 38.75 4.19e-128 ***
years 0.0688626 0.0121145 5.684 2.79e-08 ***
gamesyr 0.0125521 0.00264676 4.742 3.09e-06 ***
bavg 0.000978594  0.00110351 0.8868 0.3758
hrunsyr 0.0144295 0.0160570 0.8986  0.3695
rbisyr 0.0107657 0.00717496 1.500 0.1344
Mean dependent var 13.49218 S.D. dependent var 1.182466
Sum squared resid 183.1863 S.E. of regression 0.726577
R-squared 0.627803  Adjusted R-squared 0.622440
F(5, 347) 117.0603  P-value(F) 2.94e-72
Log-likelihood -385.1076 Akaike criterion 782.2152
Schwarz criterion 805.4141 Hannan-Quinn 791.4463

Log-likelihood for salary = & 75147.85

Excluding the constant, p-value was highest for variable 13 (bavg)

? omit bavg hrunsyr rbisyr
Test on Model 1:



Null hypothesis: the regression parameters are zero for the variables
bavg, hrunsyr, rbisyr
Test statistic: F(3, 347) = 9.55027, p-value 4.47358e-006
70 Omitting variables Improved O of 3 model selection statistics.

Model 2: OLS, using observations 1-353
Dependent variable: Isalary

- coefficient std. error t-ratio p-value
const 11.2238 0.108312 103.6 9.97e-265 ***
years 0.0713180 0.0125050 5.703 2.50e-08 ***
gamesyr 0.0201745 0.00134287 15.02 1.02e-039 **=*

80
- Mean dependent var 13.49218 S.D. dependent var 1.182466
Sum squared resid 198.3115 S.E. of regression 0.752731

R-squared 0.597072  Adjusted R-squared 0.594769
- F(2, 350) 259.3203 P-value(F) 8.22e-70
- Log-likelihood -399.1103 Akaike criterion 804 .2206
- Schwarz criterion 815.8200 Hannan-Quinn 808.8361

Log-likelihood for salary = -5161.85
90 ? ols Isalary const years gamesyr bavg hrunsyr rbisyr

Model 3: OLS, using observations 1-353
Dependent variable: Isalary

- coefficient std. error t-ratio p-value
const 11.1924 0.288823 38.75 4.19e-128 ***
years 0.0688626 0.0121145 5.684 2.79e-08 ***

- gamesyr 0.0125521 0.00264676 4.742 3.09e-06 ***

100 bavg 0.000978594  0.00110351 0.8868 0.3758

- hrunsyr 0.0144295 0.0160570 0.8986 0.3695

rbisyr 0.0107657 0.00717496 1.500 0.1344

- Mean dependent var 13.49218 S.D. dependent var 1.182466
- Sum squared resid 183.1863 S_E. of regression 0.726577

R-squared 0.627803 Adjusted R-squared 0.622440
F(5, 347) 117.0603 P-value(F) 2.94e-72
Log-likelihood 385.1076 Akaike criterion 782.2152
Schwarz criterion 805.4141 Hannan-Quinn 791.4463

110
- Log-likelihood for salary = -5147.85

Excluding the constant, p-value was highest for variable 13 (bavg)

- ? omit years gamesyr bavg hrunsyr rbisyr --test-only
- Test on Model 3:

Null hypothesis: the regression parameters are zero for the variables
- years, gamesyr, bavg, hrunsyr, rbisyr
120 Test statistic: F(5, 347) = 117.06, p-value 2.93802e-072

# model 2
? olls Isalary const years gamesyr bavg hrunsyr rbisyr

- Model 4: OLS, using observations 1-353
- Dependent variable: Isalary

coefficient std. error t-ratio p-value

130 const 11.1924 0.288823 38.75 4.19e-128 ***



years 0.0688626 0.0121145 5.684 2.79e-08 ***

gamesyr 0.0125521 0.00264676 4.742 3.09e-06 ***
bavg 0.000978594  0.00110351 0.8868 0.3758

- hrunsyr 0.0144295 0.0160570 0.8986 0.3695

- rbisyr 0.0107657 0.00717496 1.500 0.1344

Mean dependent var 13.49218 S.D. dependent var 1.182466
Sum squared resid 183.1863 S.E. of regression 0.726577

- R-squared 0.627803 Adjusted R-squared 0.622440
140 F(5, 347) 117.0603 P-value(F) 2.94e-72
- Log-likelihood -385.1076 Akaike criterion 782.2152
Schwarz criterion 805.4141 Hannan-Quinn 791.4463

Log-likelihood for salary = &4775147.85

Excluding the constant, p-value was highest for variable 13 (bavg)

? restrict
- ? 2*b[years] - b[gamesyr] = 0
150 ? b[bavg]+b[hrunsyr]+b[rbisyr] = 0.05
- ? end restrict
Restriction set
1: 2*b[years] - b[gamesyr] = 0
2: b[bavg] + b[hrunsyr] + b[rbisyr] = 0.05
Test statistic: F(2, 347) = 13.8269, with p-value = 1.66856e-006
Restricted estimates:

160 coefficient std. error t-ratio p-value
const 10.9808 0.284045 38.66 3.50e-128 ***
years 0.00960327 0.00118336 8.115 8.38e-015 ***

- gamesyr 0.0192065 0.00236672 8.115 8.38e-015 ***

- bavg 0.00177950 0.00109294 1.628 0.1044

- hrunsyr 0.0512122 0.00521019 9.829 2.74e-020 ***
rbisyr -0.00299173 0.00518606 -0.5769 0.5644

Standard error of the regression = 0.752808
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